Table 1: Behavioral data and test results from one-sample t-test.
	
	Control group
	Case
	One-sample t-test results

	Task
	ø
	SD
	Med
	N
	
	

	Word Pair 1 recall
	13.61
	9.03
	14.5
	18
	13
	t(17) = 0.28; p = 0.78

	Word Pair 2 recall
	14.06
	7.46
	15.5
	16
	3
	t(15) = 5.74; p = 0.00003*

	Word Pair 1 recognition nmcg
	49.5
	6.79
	52
	10
	52
	T(9) = -1.11; p = 0.30

	Word Pair 2 recognition nmcg
	53
	4.53
	53
	8
	40
	t(7) = 7.60; p = 0.0001*

	Virtual Town 1 recognition
	5.5
	3.15
	6
	18
	6
	T(17) = 0-0.65; p= 0.52

	Virtual Town 2 recognition
	6.35
	3.85
	7
	17
	8
	T(16) = -1.71; p = 0.11

	Virtual Town 1 recall
	7.73
	3.41
	8
	15
	14
	T(14) = -6.87; p = 0.000008*

	Virtual Town 2 recall
	8
	3.31
	8
	13
	12
	T(12) = -4.19; p = 0.001*

	Virtual Town 1 details
	9.6
	3.02
	8
	15
	16
	T(14) = -4.04; p = 0.001*

	Virtual Town 2 details
	8.77
	4.66
	8
	13
	14
	T(12) = -3.89; p = 0.002

	Virtual Town 1 time
	3.6
	1.62
	4
	15
	5
	T(14) = -3.22; p = 0.006

	Virtual Town 2 time
	4.38
	2.5
	4
	13
	4
	T(12) = 0.053; p = 0.60

	Virtual Town 1 allocentric
	3
	2.92
	3
	15
	4
	T(14) = -1.28; p = 0.22

	Virtual Town 2 allocentric
	2.92
	1.69
	3
	13
	5
	T(12) = -4.27; p = 0.001*

	Virtual Town 1 egocentric
	5.07
	2.29
	5
	15
	6
	T(14) = -1.52; p = 0.15

	Virtual Town 2 egocentric
	5.53
	1.86
	6
	13
	4
	T(12) = 2.86; p = 0.01

	Finger Tapp 1 speed sec, training
	9.02
	6.10
	7.15
	14
	5.59
	t(13) = 2.03; p = 0.06

	Finger Tapp 1 speed sec, performance
	7.17
	4.47
	7
	14
	6.31
	t(13) = 1.50; p = 0.16

	Finger Tapp 2 speed sec, training
	6.79
	3.48
	6.62
	12
	5.31
	t(11) = 0.63; p = 0.54

	Finger Tapp 2 speed sec, performance
	6.49
	3.13
	6.51
	13
	4.94
	t(12) = 1.71; p = 0.11

	Finger Tapp 1 accuracy %, training
	56.78
	11.12
	57.32
	14
	41
	t(13) = -1310.9; p = 1.1186e-34*

	Finger Tapp 1 accuracy %, performance
	91.25
	5.75
	92.37
	14
	85.9
	t(13) = -3687,4; p = 1.6215e-40*

	Finger Tapp 2 accuracy %, training
	79.73
	19.66
	82.25
	13
	59.69
	t(12) = -1499.9; p = 5.1961e-33*

	Finger Tapp 2 accuracy %, performance
	86.86
	18.56
	93.71
	13
	68.94
	t(12) =-1270.8; p =3.7977e-32*


	Stroop 1 accuracy %, target nmcg
	91.88
	14.54
	96.88
	10
	100
	T(9) = -1.68; p = 0.12

	Stroop 1 accuracy %, inference nmcg
	92.29
	15.14
	97.88
	10
	97.93
	T(9) = -1.11; p = 0.29

	Stroop 1 RT target (ms) nmcg
	955
	246
	912
	10
	974
	T(9) = -0.23; p = 0.82

	Stroop 1 RT inference (ms) nmcg
	1157
	355
	1070
	10
	1101
	T(9) = 0.47; p = 0.65

	Stroop 2 accuracy %, target nmcg
	98.44
	4.13
	100
	8
	100
	T(7) = -1; p = 0.35

	Stroop 2 accuracy %, inference nmcg
	94.27
	4.26
	94.79
	8
	100
	T(7) = -3.55; p = 0.009

	Stroop 2 RT target nmcg
	877
	254
	857
	8
	1186
	T(7) = -3.22; p = 0.01

	Stroop 2 RT inference nmcg
	1004
	352
	999
	8
	1020
	T(7) = -0.12; p = 0.91

	Go/No-Go 1 accuracy %, target nmcg
	74.33
	30.41
	88.67
	10
	87
	T(9) = -1.22; p = 0.25

	Go/No-Go 1 accuracy %, non-target nmcg
	90
	6.32
	90
	10
	83
	T(9) = 3.16; p = 0.01

	Go/No-Go 1 RT target nmcg
	369
	37
	365
	9
	379
	T(8) = -0.83; p = 0.43

	Go/No-Go 1 RT non-target nmcg
	307
	76
	280
	9
	274
	T(8) = 1.21; p = 0.26

	Go/No-Go 2 accuracy target nmcg
	71
	39.07
	91.67
	10
	50
	T(9) = 1.61; p = 0.14


